e \\ e \\ , \\ ’ \\
(123 124 ) 125 ) 126 ) 27
N R4 N L N 4 N L
- -~ - -~ _
, 926 .
1997 162 330 294 961 43,
298 13 295 28 34 15 264 15 299 18 298 A2, 25 13 562 L 56,
- 120 192, 120 192 624 L3202y 101, 80 101 i 120 g2, 120 383
M8 |IP. SEUCHACZY
17,80 | LINOLEUM
P. SLUCHACZY] [34 TP SKUCHACZY| (35 TP A 346 |P. SEUCHACZY]| [347 [P. SLUCHACXY
3_[LINOLEUM 149 | LINOLEUM ) L,'NSEEJSH cax 13,38 { LINOLEUM 1518 [LINOLEUM \" /e
| | |
(o) (s = G’l? ® = Q’){ i OR
==y S SE7 SR1 %s‘z | =S5 |
@"T\ e ﬁf _f T T— /m [ T + -y -_'—‘_:“:- - . fs ﬁ T e -
54506 54508 450, 50k M?/G [

3 88/50/8 »
2t %“2

39 [P._SKUCHACZY
2835 | LINOLEUM

507

v i —
J4ten He=340cm H=40cm H=340cm H=340¢m |[| H=380cm /D05 H=340cm

805

(ho=95)

88/5/%
Q

1 [ —

'=J40cm P
30 [P SLUCHACZY ™

S6/50/6
\‘=L{—f*—

311, SEUCHACZY 30 |P. SFUCHACZY]

95% 1296 | LINOLEUM 120
Q
<1 200(190} (hp=95)"
42 534 2
MR
_____ B —
| 2 7
WL 881 He3400m
S 88 O e |E 2D O\ = Y HHE
hp=189) 200(390 $91 [P, SLUCHACZY (hp=95
" [355c_ | WEZEE INF.IDES 15,58 | LINOLEUM
«| & 1l (277 [PLYTKI CERAM. 2 )
125 277 125 B 1= 15 247 B ¥ Y N o
1962 &) S }
2022 & 8 o Ygf +Cz ) 7
Thp=189) et H=340cm <
L[ 13% [ TQALETA 195 12
Sl g 1738 [PLYTKI CERAM. 200 jj\ L gﬂ (v oA
| 352 TP, SLUCHACZY
'b 16,38 | LINOLEUM |
S 28— — O | e (1 IR
0 hp=169) 80 . -
e S o A | I L ke . __...§ [N S
8 pacd e Mo
N] [3550_ | TOALETA o H=340crm g 1207
[19.88 | PLYTKI CERAM. 9% g 000
= 8 o )ige 200(290) — (hp=5)
ml & A : 353 __|P. SLUCHACZY
16,43 | LINOLEUM
z
o B p— ¥ }
>
o 1 H=340cm s VTN
= B g! ——#5(a)
(hp=94) i (hp=95)
359,350 SZATNIA 304 P, SKUCHACZY
o ' 7751 | [INOLEUM 547 [LINOLEUM 3 ’
~— ~
®| agf -
=3
460 1 28 N 534 >
. _ . 3%6 [P, SLUCHACZY .
3 o S be=340cm L0y (|21 547 [ LNOLEUM 3 12000
= 0 — 200(290) 200(290) S ay
{hp=94) ! 4 (hp=95
' o] & H(C2
g H=34Gem 2
~ 2 2
ot ¥ ¥ kS
S 2
’ 359 [P, SFUCHACZY 358 | P. SEUCHACZY
& @ W S 338 TiNOLEuM 1547 | LINOLEUM L 1 ()
& {hp=94) g = ey g hp -95)
H=340cm 340
'b = (o]
............. S e ——— U ——— [ P — [— 2 " [ SOV [ 2 ——] 2
L | =l — ¢ 4| —
-y - #;
7 > 7 M

ol | g . § 14,80 | (TNOLEUM 61 | LINOLEUM 3 12&(/5')

& 1 0
2 (hp=94) — — S (85)”

/=340
L o ] L, h wc’” ...... H=3Hlcm o z )
e - b4 = — —
< —_
,% /a0 7 5

2 Of-—H o et N | e

o) - \__/ 70 A 6 l \ - | 120
8 % {hp:55) ,;¢ $‘|_‘_’_2_ﬁ£ & Tho or\D




